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Module 3 Invest. 6-8 Test Review Algebra 2 Review Review Review Review Review

SHOW ALL WORK!

Rewrite the following in exponential form.

1. logls[z—;gjz—z ES-Q = 3:[;-5 \ 2. log,(x)=y L 3Y pid

J
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Rewrite the following in logarithmic form.

3. 6°=216 Dogg(zlé).—.g 4 12°=y |Oglz(y)=>a

Condense or rewrite the Tollowing as a single logarithm. Simplify, if possible.

5. log, ¢ +log, ¢ +log, ¢ +log, ¢ 5. 1og110+3log25+%1og225 .

* log, (c-0c0) *logulo 4 1o STt ‘03225"“

= (03‘[(-4) = \og,{'O)-i-‘ongS)'t“Og,ig)

= 4-103&&) = 103‘_(10-125»5)

= (031((,150)}

2. %10g9—log4 8. log, 25(;13&2 . In(200)2—:2ﬂ0)—ln(5)
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= 3 loged |
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11, loga[-x—zb] 12. 1n(2.5*) \ 13, log{;]
S - s lala) + n(SD
1033(x ) - log (@) -|.33(L) a = '”31(“) - goga(d}
2 loga() - log, (@) ..|og3u,)‘

Expand the following.

1]

=4 n{ 4 |n(5 . _
L 2) + l) = log:(q)'{.(bgh(c) _lug,h(d)}l_
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Evaluate each of the logarithms.

14, logz(—%} -3 15. log,(36)= 2 16. log,(8) = 3 17. log?[%] = -2 18, log(1000) = 3
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le & 3\ _—L———; __&__[ ( ) IOS_ (_‘H)
Ton(>) Jg_(é log () _—

Complet&’each table of values and graph on the next page {o 3_('1)
19, TR SO=8 20. 5 Tgoo] &) =log,(x)
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21. Use the properties of logarithms to rewrite }/ log4 8+7 log4 2 as a single logarithm. Then evaluate the
20 122)
value of the resulting expression. . A o 'I‘ I o C

3 ' . 256
: loa,rga-!- log,,,)-ri "L ﬂ“( > ):_l
= loge? - 28 7 = log (3560 (286) _rz
- loge® + log, log (£
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Module 3 Invest, 6-8 Test Review Algebra 2 Review Review Review Review Review
Part2
SHOW ALL WORK!

Solve the following equations. Use logarithms and show all work algehraically! Round your final answer to the

thousandths,
22, 8" =500 23, 2(3) =£ 24. 1,000 = 781(1.056)"
log, S00= N 2oz g &
°3e 3=%5 _ L
lo q{S00) l.2% .05
—-lj_ﬁ_-::ﬂ '0338.5:-)( .b = 'ogIOSéng
ogf 8) :
3 . Iog(gﬁ\ o % t= IQ&(I2_3§
| 2.92% = n\ loq L3) loq (1.056)
L ! g
1948 = X [+= +.531]
Evaluate each of the following logarithms. Use your calculator and round your final answer to the thousandths.
25. log,(67) 26. log, (123) 27. log(400) :] 2_;;;,;& 28. In(14) ={2.£39
- 3} S log{123)
dog U0 _mon) =109 T
‘0%1(1-) ] ’o ('i) E
e population of Chandler AZ in¢reased from 176,585 people in 2004 to 211,502 people in 2014,

gu_krv_ro.‘l‘w dﬁd’ﬂ. | gtx)' b" a: Inthal Value LD ‘Fao+0?"

I ne dr Trfunction that models the town’s population as a function of the number of years
Qarlley
l o‘ad‘ since 2004, Be sure to define lour variables.
- | year 1 o= MESES (LO1BY
07" 211902 s
3”“'”“ (16585 b2 h 8T x: 4 oF years since 2004
'!"N‘;"OV’ ‘F&D'i'o\-
b. What is the annual growth factor and the annual percent change? Round your final an ‘;vers io the
thousandt + oo [3 Pwerce-f\ c
omnual g\,—o o.c.“'oy- = I+ perten cLMC}E ._3-—;\ M.} L g e
-4 e
$oe l.ol8= I+ perreN‘ change f
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¢. Use your function to predlct the city’s population in 2025. Round your final answer to the nearest whole

number. x
2025 - 2004 = 3| || F=176585(1.018)

Xz 21 1= 174585 (1.018)
=125 6 &30
d. According to your function, when will the population be 290,0007 Use logarithms and solve
algebraically. Round your final answer to thethousandths X = loa_( I.G‘l‘ﬁ-}
ftxy= 116585 ([0 18 Y 1442 = (1.CI8Y log (1.0/8 )
2G0000 = {16585 (1.0 IE-) " ¥ = lo ().642) X= 2.73-'1&78
176585  |ML5€S drefz 200449_-1;,%,@




